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THIZAE (H ) 2020 4E 2 H
= SN OB~ 10BF | 10BS~118% | 11BS~128F | 1285~ 138F | 13B5~ 148 | 1485~ 158F | 15B5~168% | 1685 ~178%
16 t+ KBH57 (R EK) AR 2K FIEa&lE
2H B FNEE &lE (EPNEE>)
3H = MSL(& Ek) BAEATHT 3- (EPNEE=)
4H X [EPNE=E>9) N B L EK
5H 7k IKEER(EIK) (EPNE=-E=9) U7 7U(EER)
6H PN 1-1977 (£3%) REE £ Bk
78 & SSC (& Ek) HEH977 (2K (EPNEE=)
8H t+ HEAR 22K FNEE &lE
9H B FIEE&lE {(EPNE=-E=9) IR EER
10H A
118 X EEEREIES K BE = Bk
12H 7k IKIE = (2 BK) U7 7U(EEK)
13H PN 1-hY977 (B EK) NBE £ Bk
B us 2 SSC(& ) ¥ #57 (SH) B AGEHR)
%:\ 150 t+ SKBH757 (R EK) AR 2K FIEE&lE
1 2|K 16 H = FIRI&lE
z5 178 2 MSL(E Ek) B (R EK) (EPNEE>Y
3] 18H X (EPNE=-E=9) K BE S Bk
190 7K IKEER(EEK) Y7 7U(EER)
20H ZN 1-hY977 (R EK) NBE £ Bk
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21H & SSC (£ k) S H)77 (R k) (EPNEE=Y)
22H + K977 (8 k) AR 2 Bk FNF &I E

23H H & A (E2K) LR 2Bk
248 A it (ELEK) & A (2 2K)

25H X N B B2 Bk

26 H 7k IKIE=(EBK) 7 7(EEK)

27H X 1-h977 (B Ek) RNEE £ 3k

28 H & SSC (£ k) S H)77 (R BK) (EPNEE=9)
29H + K977 (E3K) FNFE & E




